Supplementary Figure 20: Receiver operating characteristic (ROC) curves
evaluating the IRD classifier performance per class. The ROC curves in each subplot
represent five models from Regime 1 and 1.5, which are defined in Table 1. The
figure legend contains the area under the ROC curve which describes the diagnostic
ability of the model between O (poor classifier) to 1 (optimal classifier). * indicates
significant difference between the area under ROC (AUROC) of the model and the
baseline R model in that plot (p <0.05, Delong’s test).
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